53845 405'=
i 4km - 272m = i km

3 F3Q0x27=

‘5 1.5 milllon = = thousands

B (6 x 105 + (1 x 10% +
7x100+@Ax1) =

S 0750= 0 am?

B IxG+1-10+2=

[

0
W

X

10 Find § of £36.

X 48mm + 72mm
11 4 = cm

12 2 25% of 1.28l= ml
b 75% of 1.28kg= g

A1 Divide 45kg in the ratio 7:8.

+2  Find the product of 10 and 0.002.

23 One artidle costs 21p.

Find the cost of 2 10
B 50.

4. 1 mile = 1.6km. Abcut how many miles
is 64km?

3. & increase £2.56 by 100%.

b Decrease £2.40 by 50%.

©6 By how many grams is twice 2.175kg
less than Skg?

. . 1.
Z: How many secondsin  a 3min

b 0.25min?

#8: £5.60 is shared equally among eight
children. Find one share,

i9: Change to percentages. a 0.13
b 0.35

10: The area of a square card is Tm2.

075 6f:'a"q:u'antity has a mass of 3.36kg.
Find:the mass of 0.5 of the quantity.

Find the sum of (4 5 0.7) and (

. Find in centimetres the length of cne side.

£850

_BGpr__ . 2p

1504 thousands

£10704

L 25hem?
K]
il
g

£13.50
_ ..3em
a 220ml
) 2409

Zikg . Z4kg

4.02
a £2.140.
b £i0.50
45 mileg
afziz
.. B50g
a /_BQS
b 155
70n
a_ 3%
o} 0%
200
2.24kg
7

w

=

1

12

Schofield & Sims

A book costs £2.40. In a sale it is to be
sold at 75% of this price. How much wil
it be sold for?

The total mass
of the three
parcels is 7kg.
Find in
kilograms the
mass of

parcel C.

Ali earns $5.50 per hour, What is his

wage for a 30-hour week? $is55 -
i The scale reading
0 shows the mass
2 N % of 20 tomatoes.
. 3 Find the average
- \ mass of one
, 1 tomato.
L,.,L,.,Lf}/
Find the change from £10 after spending
£3.60, £2.50 and 99p. £2.91
AA The right-angled
&% triangle is an
isosceles triangle.
3 Find in degrees
/o g a £CAB a . ame
e b £ BCA: b 48
A packet of peas has a mass of 375g.
Find in kilograms the mass of six packets. ___ 2.2%g
toem The shaded part
: is cut from this
£ rectangular card.
@ Find the area of
—‘i:q 77777 the part that
15¢m Is cut off.  Ahom?
Write the next two numbers
in this seguence.
24,17,10, 3, =, - 2 Y
A measurement of 38mm on a plan
represents a distance of 38m. What
would a 3cm line on the plan represent? o EEm
The graph
shows the
¥ temperature
¢ for five days.
o Find the
© e mean daily _
i AV S He
0 TR A E temperature. B 'eC
' days
Which two of these fractions
together equal
1 3 L 3
a3y b3a? as. and &
T 3 1z & 1 2 1
4 8 5 3 10 12 b3 and 97

R

10

1

12

"
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Mental Arithmetic 5 Answers

79+87+ =300  amg
105=10%x10x10x10x 10 x 10 =  1poopoo
3h 20min—1h 55min=_h min b ZBmin
6L515ml= ml 5515mi
£10.10 x 10 = £181.00 )
0.75m + 350mm + 400mm = m 0B
818 +  hundredths =10

36x6p=f

6% of tkg= . g

103;87= 7 913
7kg+ 8= g 2759
y+5= % Find the value of . _ oz

Write in digits the number one hundred
and eleven thousand and one. S A RS

How much less than 1 tenne is 860kg? e 4Gkg

How many £s are equal in value

to 10000p? L1680

Which three consecutive nurmbers when

added together eqgual 217 B 7

Find & 1% of £75.00 S "

b 11% of £75.00.

20 cost £8. Find the cost of 15. £5. ..

Write 300ml of 0.5 as

Ll

a a fraction in its simplest form

L a percentage. b

Wheny=2 by=w-38.
Find the value of w.

How many 400g packs can be filled
from 10kg?

25

Write as a decimal. 2

b

|~ Piw

Write the numbers between 0 and 40 of
which both 3 and 4 are factors. 4,24, 38
The length of & rectangie is twice its width.

The perimeter is 54cm. Find

a the length - E—
b the width. boo2m

11

12

SECTION

5% of a 4m roll of ribbon was used.
How many centimetres was that?

By how much is the pro1duct of % and
% less than the sum of 3 and 77

Four hamsters together have &
mass of ZDQQ. How many have
amass of 27kg?

Find the nearest whole number.
51

b 97 =8 b 12 .
£ 1566+ 6 .8 .
A E B ABCD is a square.

Find in degrees

@° )y E is the midpoint
¥ of the side AB.
\ /_ X
z

the size of each Ly
~ of the angles
D ¢ xyandz £z
£3.52 was received in change from £10
after buying six plants. Find the average
cost of a plant. f£1.08

A car travels 200km in 2h 30min.
Find its average speed in km/h.

The circumference

> of this circle is 22cm
~%y and the radius is

i 3.5cm. Find the

perimeter of the

semicircle.

Find the cost of 2.25kg at £10 per 3kg.  £45

How many cubes with sides measuring
10cm each fit into a cube with sides
of Im?

4 This is part of the dial of a
- jﬁ stopwatch which measures

? to one-tenth of a secand.
Y

R

j atz.
by Write in seconds the -

12 ? , difference between the

In 4 wesks lessica travelled 530km,
470km, 640km and 360km.

What was the average distance

she travelled per week?

a Write in seconds the .

1

s

oy

\

reading aty .- ay

readings at Y and Z. b

Z2 ! Test 8
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